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2) 8.2 m = .g20.CM (6) 7000 M = ....oe.fece. KM

512 K loco = 120 UG Slo = 275 v

3) 0.12 m = ..\2e.-mm (7) 27.5 mm =..2.75..cm
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1) 0.934 km = .9.34.06.CM (8) 11.2 mm = cei}.-M
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1) 40 mm @ 40 cm (2) 3.5 km @ 3500
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(a) 0.8 cm (b) 0.08 cm (c) 0.008 c
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(1) 3500 mg 3g (2) 7.7 kg @ 7070 g
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(3) 3150 mg @ 3.15¢ (4) 612 ¢ 6.12 kg
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(a) 0.8 kg (b) 800000 kg (c) 0.008 kg
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(a) 0.083 8 (b) 8300 g (c) 83000 g
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(1) 33L= & 3F.e.0 ML
L7006 *leoo

(3) 2700 mL = ..., L (8) 120 mL g
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580+ lecoz258 L 12 \ees :Gj“ ML

(1) 580 mL 0.58 L (2) 12 L 125
o671k \eco aé\"/cmt_ 3y rleco= 2934 L
(3) 0.67 L \(\/’ 760 mL (4) 24 mL 0.0
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(a)3.51L (b) 3500000 L (c) 0.35L
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(a) 6.21000 mL (b) 62100 mL (c) 6210 mL i
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